IR <- MDR

BEN<-IR[11] & N + IR[10] & Z + IR[9] & P

To8 [IR[15:12]]

DR<-SR1+0P2
set CC

LDB

To 18

To 18

R7<-PC
PC<-BaseR

R7<-PC
To 18 \ PC<-PC+LSHF(off11,

l

To 18

13
To 1BCDR<—SHF(SR,A,D,am3)

set CC
/

14 2 6 7 3
To 18 DR<-PC+LSHF(0ff9,1
setCC CMAR<—B+off6) @AR<—B+LSHF(oﬁ6,9 CMAR<—B+LSHF(off69) CMAR<—B+off6)

To 18
29 \ 25 Y 4
NOTES C@DR<—M[MAR[15:1]’0D @DR<—M[MARD3 MDR<-SR[7:0]
B+0off6 : Base + SEXT][offset6] Py _
PC+0ff9 : PC + SEXT[offset9] R R { ¢ R R

; 27

*OP2 may be SR2 or SEXT[imms] 3

ww [16:8) or [7:0] dependin fmm DR<-SEXT[BYTE.DATA])) ( DR<-MDR
. ’ P 9 set CC set CC

MAR0]
! !

To 18 To 18




